Math 9 Section 6.4.notebook February 10, 2014

Sec"\‘(én Q"f Sa\b'\ns_::hcélyﬁh e
bg; s l'hs Additicn and gu‘.)"'racllévi\

e ———

-3 -2 -t e 2 3
e xﬁé:‘nc’l:‘; b th
Ts —1£53 ¢ Yes:

dd gr subtract The

NOTE: TF ygow a S s

g mne Q) MoLy : .
os"FqV\ I'\u‘,uM}"‘j ) "H\c \N’.-‘,Up(f(us

1s still fvee- .
(Q\Ib 3] Add i both Sicks
_3 +Q < ""Q

1 £ 53



Math 9 Section 6.4.notebook February 10, 2014

Note: X+2 = 9
Y+ 3=3 =9-3

w = G s 4
A~—— )
Sd\Ug: X+gé 2- 4}
)(&3 £9-
Xfé o
__—
’W: {2 =2 X-4.5
( * an e 3ra?h
(AvD  C T SR




Math 9 Section 6.4.notebook February 10, 2014

(E-y 2) Jak. ?\q“s Yo board his (lOS
W\\.I\O. ch\s\») on cha"XIn.
@ BM(J\"\ House -
c\\«er‘S $90 plus 35 - (‘“j

) 54
o Baqréfv\a H:Js.. @'- N
chwrﬁcs $109 'p\us 4 'P« J

- - - - Joodit —— - _
a\les‘l'l'ﬂ'\" HD“’"\"\'\‘_‘) é“‘js musT Jahe

1 Vi Qoa So Fhat bourding Neus. A
?{of‘a’ﬁs ¢.|~/P~:3vg 'P’\“"‘ bour“.iq;)hus. B?

~x T boards his
AN YL4rd= 4 . day Sake
P FTE b o )
. p - a0+ 5
< heer S ‘:‘3 ” :,o:qé
) qo+5cl<‘004-qc‘

e e
010+5¢“‘"'<‘<(°°-N\J- N ‘
QO _‘_é (o O 90 \«;’\

\go< 109
a0 +4 “‘

“rms en e LRS-

I

d House As less '-xpev\su}c W

So %—o:ﬁ‘ boards the dog fer lesc Hhan
lo 9245
A  AB B
* o | Odays

o ‘boqn‘mt)
L> Ms:'u:a-ss efpoet
‘|‘»\4I\ Yhe o‘\‘\\“



Math 9 Section 6.4.notebook February 10, 2014

:Pfﬁc'\'(("c.:j-i‘\ boqrc‘s hu- (‘q_‘. In O

bOﬂrJf’\ hcuS«"H‘\q'\' O'FRVS _‘-M 'Pﬂnwiud-
f\)\n-ns. | an A C'OS"-S leO '\)‘OS $8 a Qj

and ,P\a.n B costs $110 D los $¢ a c‘a_\,.

. o daus can Ji1) board
Ques Tren - ‘\:\(":5\“22 /\'\?\?m f;lam Ais &g
) ?

Q¥ P.nSI-VC :




Math 9 Section 6.4.notebook February 10, 2014

7. Match each inequality with the graph of its (ﬂ\ - g > Q
. i i -

solution below. Is 3 a possible solution of

each inequality? How can you find out? c m > E ! * 2
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8. Solve each inequality. Graph the solution.

Verify the solution. ‘q\ X“-g = Q
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9. Solve each inequality. Graph the solution. (-&\ L’"I' — | 9 = Qq +3 t

Show the steps in the solution.

Verify the solution by substituting 3 different ‘_l +— 'q — 3 t 4Q‘I+M

numbers in each inequality.
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14, Assessment FoeUs . Marie has $4.85. She (ay :E -\- W = Cos'|' of oo
wants to buy a muffin and a cake at a bake .
sale. The cake is on sale for $3,45.@Jw MV‘P‘P‘N .
much can Marie spend on a muffing
a) Choose a variable, then write an
inequality to solve the problem. M —+ ’3 . l" 5 —4— ‘f' 8 5
b) Use the inequality to solve the problem.

¢) Graph the solution on a number line. . +M 5 -é 4-85 -?-‘Is

d) A deluxe muffin costs $1.45.
Can Marie afford to buy this muffin?

Justify your answer. h —4_ | . ‘—' o
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